e ‘ Expanding Triple Brackets
- .. é\
REVISE THIS

1 Expand and simplify (X + 1)(Xx + 2)(X + 5) [3 marks]

(oc+ 1 oc+2)= "+ Letx 4+ )
= A"+ 2+
(o + 2o+ 2)(x + )

= X Gt 34 IS+ 220 +10

2 Expand and simplify (X + 3)(X + 4)(X + 6) [3 marks]
o+ (A+w) = >(*+Gx+ >+ 1L
= 2+ Fx L
O+ 30 +1D)(o0+6)
= o+ F+T 2+ &2 HWr L

wower X0 \DoP4 SO +FL

3 Expand and simplify (X + 5)(X — 2)(x + 1) [3 marks]

(2tS)(A-2) = ~*-2¢+Sx—-10
= "+ 310
(%24 2x ~)10)(+1)

= %4 2P+ 335432 -10x (D
Answer I—Z* L,’x/?”-?'x"‘o
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4 Expand and simplify (X — 3)(x — 4)(x + 2) [3 marks]
(53 2—4) = x> -t —2x 4L
= >t _3x 412
(17’—-?1 p(x+2)
= + 2t =F e+ 20+ 2t

3
Answer I— -SI’L" 2-)(+ 2.;""

5 Expand and simplify  (y—2)(y —2)(y —4) [3 marks]
(y=DY2) = o 2y =2y 14
= d 7'-'1-\’3 + L

(y™ by +lﬁ(3~4\
- 83 —'L\'iz"b‘nb“’\bj *%_\ b
Answer &1—/23’0 *103 —b

6 Expand and simplify (X + 5)(x + 3)? [3 marks]
(> + S)(Jufﬂ = o+ 2+ S 4\S
= XY+ Bax 15

(a¢=+8x +15) o+ 3)
= 124 22 182 + 242+ S xS

Answer 1’5+\ ‘ L’L-\' lq u'-\- L‘\-S
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7 Expand and simplify (X + 10)(X — 6)2 (3 marks]
(x+10Xx—6) = x> — Ex+0x-60
= X +4x-60
(x*=Yr- 60) x -6)

= X P — bt + U4t - 214 %60 x +260

Answer I‘ﬁ - 11}' —gt\fx-\—ZQO

8 Expand and simplify  (h - 5)3 [3 marks]

(A= -9 = W= Sh-Gh+25
= h* -1oh+ 1S
(h*=1oh + 28 )(h-S)
= K-SR -)on SOk 425 h-12S

W2 -|Sh*+3CSk -2S

Answer

9 Expand and simplify (X + 12)(x — 2)(X + 2) [3 marks]
(oe42)ot-2) = xP-2x+ 14
= x4

(2=l +12) = 34 x> -tz —Ug

Answer I:é-‘,' Lx/z - q’I ‘L('z
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Expand and simplify (2x+ 1)(X - 3)(X — 1) [3 marks]
(er)(x-2) = 22% -6 +x -2
= 2x¥-Cx— 12

(2x2-S x — ) (x-1)
= Lo x-St +Sx - Ax+2

Answer 2112 "7—17, “'29(.. + 1

Expand and simplify (3p + 2)(2p + 1)(p + 5) [3 marks]
(3p+D(2p +D) = bp +3p +hp +1
=bplrIptd

(694+Fp)(pt+S)
= 6P+ 0P 17" « TS p2p¥l0

Answer 6?3 + ﬁq- Pl + %:,’. P“\" l 9

Expand and simplify (3x + 1)(2x —1)(4x - 1) [3 marks]
(Zx+1)20c-1) = 6o — e +2x —|
ot —a —|

(6% —x—1)(4x-1)

= Wex® —6x =4 ot -l \

Answer 2"\‘ 13 - \D 9‘:‘,’ %1"\' \
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13 Show that (3X + 1)(3x —1)(2x + 3) can be written in the form

ax + bx2 + cx

+d where a, b, c and d are all integers. [3 marks]

(Tx)(2x-)) = 9= 2x + e - |

= qat -\

(qx‘~\\(h ¥3) = '3 Fo Yot - 2y =1

Answer | g 3(.3“’ l})(‘b“' ll ’g

14 Show that (5x + 1)(X — 3)(X —2) — (X + 2)2 can be written in the form
ax + bx2 + cx + d where a, b, c and d are all integers. [6 marks]

(SIP\\( - ?:\ = Q-1 +x -2

(g x|

= S’ -3

L\—x.——'éXx -2)
= S=2 — 0o = I x* + 295 -2 +b
= Sa® -2t 29x +6

(1+2)(1+L) = X7+ 1y e+l

= Xy b+l

S- W+ x+ b — - Ux -4
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15 X+4)X+3)X-1)—(X+2)(X=2)(X+5)=(XxX+a)x+b)

Given that a > b, work out the values of a and b. [8 marks]

(x+u)(a+2) = x® +Zx +vlbx 4L
= X+ I+
G e D) = -3 - T\l
= X+ b *+Sa-1\1

(i-\'lxﬂ‘l) = -+ -
~ x4
(- L) x+S) = x>+ Sa¥ -ba - 20

i3+(>f* Sx-10 -’(17’ +S2V-lx -'103
= +bx+Sx-1L - X ~Sx" 4+l +20
= x* +9x +%

> (g +)
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